Good luck!




Other electronic devices (smartphones, tablets, and laptops etc.) are not
allowed.

You can bring any print materials (e.g., slides, your own notes, any books)...




A,

you the meaning of Tableau plots.

Slides marked with “optional” will not be tested. Maximum likelihood
would not be tested.

Emphasizes on data analysis methodologies.




Single choice; four options (ABCD) for each question — choose the most
appropriate answer only.

Detailed arrangement on final will be sent to you later.




anguage

B. An algorithm can be used to solve a specific problem.

C. Algorithms can be used for purposes other than data analysis.
D. Algorithms are instructions that can be implemented by
computer programs.




A. Individual#Name
B. Individual@Name
C. Individual$Name
D. Individual%Name




A. If (A==B) {your codes}

B. If (A==B) then {your codes}
C. If (A=B) {your codes}

D. If (A=B) then {your codes}




A. If (A==B) {your codes}

B. If (A==B) then {your codes}
C. If (A=B) {your codes}

D. If (A=B) then {your codes}




. d U0 U U d U .
B. Two random numbers between 0 and 1.
C. A random number between 0 and 2.

D. Two random numbers between 0 and 2.




A. 333
B. 111 222
C. 111222

D. You will get an error message




A. Linear regression
B. Linear-Log regression
C. Probit regression

D. Multinomial logit model




B. Multinomial logit regression
C. Logistic regression
D. All of the above




A. Linear regression

B. Linear-Log regression

C. Probit regression

D. Multinomial logit model




B. The variable is a binary variable, i.e., it only takes values 0 and
1

C. The variable has a left skewed distribution
D. The variable has a right skewed distribution




B. Experiments can be used to prove causal relationship.

C. It is often impossible to run an experiment.

D. In an experiment, each group must have the same number of
participants.




. Z should be correlated wi
B. Your regression equationis Y =a+bl X+b2Z

C. Z should not affect Y directly

D. There may be multiple variables that can be used as your
instrumental variable.




. The lexicon-based approac
sarcasm perfectly

C. Sentiment analysis allows us to understand the polarization
(positive vs negative) of a text

D. The lexicon-based approach is more accurate than the

machine-learning based approach for sentiment analysis.




A. The overall sentiment of the sentence is neutral.

B. We should put more weight on the second part of the
sentence.

C. We should put more weight on the first part of the sentence.

D. The sentiment cannot be analyzed.




Y =a+bX

= a + bX?
Y=a+b1X+b2X2
Y =

.

a + b X + bX% + b3 X3




and faster. Then, you should use

A. 1IQ fixed effects

B. Interaction between IQ and hours of study
C. Neural network models

D. None of the above




